t a i vier Briiche, Reihenfolge der Operationen mit
Klammern

Name: Datum: Ergebnis: _
2(%—%)+2= 14(%+§)+7=

24(%—§)+8= (18+9—i)x£=

_+§(%+_ = (28+7+§)x§:

(32+8+§)><§= (24+3+%)><§:
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vier Briiche, Reihenfolge der Operationen mit

Klammern
Name: Datum: Ergebnis:
1 1 I 3 17 7
2=—=)+2=— “4(-+-=-)+7T=—=1—
( 2) 10 (4 5) 10 10
3 2 1 | 1 7
24(-—=)+8=- 89— —)x —= —
(77307873 ( 2717 %
1 21 2 6 2 2 2 3 17
e G-Dx5tz=3
5 52 5 25 3 5 3 5 9
I 1.1 1 31 2 1 14 5
-+ —(=+-=-)=— 28+T7+ )X == — =1-
373673975 @=7+3)x 3= 5715
1 2 1 19 1
32+8+=-)x == — =1 24+3+ )X == — =3—
( )% 3 ( ) 3= ¢ =3¢
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